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1. Write each of the following equations in the
form axz + by + ¢ = 0 and indicate the values
of a,b and cin each case:

2z + 3y = 4.37

o Watch Video Solution

2. Write each of the following equations in the
form ax + by + ¢ = 0 and indicate the values

of a,b and c in each case:

r—4=,/3y

| & I


https://dl.doubtnut.com/l/_e2l8fmsC0ya2
https://dl.doubtnut.com/l/_MOmQd3uDvenn

| ¥ Watch Video Solution |

3. Write each of the following equations in the
form ax + by + ¢ = 0 and indicate the values

of a,b and c in each case:

4 = b5z — 3y

° Watch Video Solution

4. Write each of the following equations in the

form ax + by + ¢ = 0 and indicate the values


https://dl.doubtnut.com/l/_MOmQd3uDvenn
https://dl.doubtnut.com/l/_ujXLDus5P3rB
https://dl.doubtnut.com/l/_cFameorHBr3l

of a,b and c in each case:

2r =y

° Watch Video Solution

5. Write each of the following as an equation
in two variables :

X=-5

° Watch Video Solution



https://dl.doubtnut.com/l/_cFameorHBr3l
https://dl.doubtnut.com/l/_C4TbP8TdnHgk

6. Write each of the following as an equation

in two variables :

y=2

o Watch Video Solution

7. Write each of the following as an equation
in two variables :

2X =13

o View Text Solution



https://dl.doubtnut.com/l/_agWIfrEVaE2L
https://dl.doubtnut.com/l/_h2w9MtkEtgyk
https://dl.doubtnut.com/l/_0dC0A7keQhCf

8. Write each of the following as an equation
in two variables :

5y=2

o View Text Solution

9. Find four different solutions of the equation

x+2y==~6

o View Text Solution



https://dl.doubtnut.com/l/_0dC0A7keQhCf
https://dl.doubtnut.com/l/_YsckOUD5cgll

10. Find two solutions for each of the
following equations :

4o 4+ 3y = 12

o View Text Solution

11. Find two solutions for each of the following
equations :

2¢ + 5y =0

o View Text Solution



https://dl.doubtnut.com/l/_INlkPAKcIo8U
https://dl.doubtnut.com/l/_cfRbyABd9WR2
https://dl.doubtnut.com/l/_9GweJlqnYpTr

12. Find two solutions for each of the following

equations :

Jy+4=20

o View Text Solution

13. You know that the force applied on a body
is directly proportional to the acceleration
produced in the body . Write an equation to
express this situation and plot the graph of

the equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_9GweJlqnYpTr
https://dl.doubtnut.com/l/_HwFGaiSPF9UM

14. Solve the equation 2z +1 =2z — 3, and
represent the solution(s) on (i) the number

line, (ii) the Cartesian plane.

o Watch Video Solution

Skill Testing Exercise

1. Express each of the following linear

equations in two variables in the standard


https://dl.doubtnut.com/l/_HwFGaiSPF9UM
https://dl.doubtnut.com/l/_P7Xc0NO6OEV5
https://dl.doubtnut.com/l/_wCAQYUPqSeZz

form ax + by + ¢ = 0 and in each case state
the values of a,b and c:

dr = S5y + 2

o View Text Solution

2. Express each of the following linear
equations in two variables in the standard
form ax + by + ¢ = 0 and in each case state
the values of a,b and c:

br — 3y = 2.8

o View Text Solution



https://dl.doubtnut.com/l/_wCAQYUPqSeZz
https://dl.doubtnut.com/l/_gNK4ijN1YyRf

3. Express each of the following linear
equations in two variables in the standard
form ax + by + ¢ = 0 and in each case state
the values of a,b and c:

1 1

67 = vt

o Watch Video Solution

4. Express each of the following linear
equations in two variables in the standard

form ax + by + ¢ = 0 and in each case state


https://dl.doubtnut.com/l/_gNK4ijN1YyRf
https://dl.doubtnut.com/l/_CT3tdJ4bKWJC
https://dl.doubtnut.com/l/_BKItGlK1waMi

the values of a,b and c:

y=4r — 1

° View Text Solution

5. Express each of the following linear
equations in two variables in the standard
form ax + by + ¢ = 0 and in each case state
the values of a,b and c:

3r =7 — 2y

° Watch Video Solution



https://dl.doubtnut.com/l/_BKItGlK1waMi
https://dl.doubtnut.com/l/_QZv4GpLwNf2H
https://dl.doubtnut.com/l/_JaOQpzOygMKv

6. Express each of the following linear
equations in two variables in the standard
form ax 4+ by + ¢ = 0 and in each case state
the values of a,b and c:

—3x + 4y = 12

o Watch Video Solution

7. Express each of the following linear
equations in two variables in the standard

form ax 4+ by + ¢ = 0 and in each case state


https://dl.doubtnut.com/l/_JaOQpzOygMKv
https://dl.doubtnut.com/l/_TEHgryeWWW0y

the values of a,b and c:

by = 3x

° Watch Video Solution

8. Express each of the following linear
equations in two variables in the standard
form ax + by + ¢ = 0 and in each case state

the values of a,b and c:

20 — 3y =0

° Watch Video Solution



https://dl.doubtnut.com/l/_TEHgryeWWW0y
https://dl.doubtnut.com/l/_ehAv3jjvrder
https://dl.doubtnut.com/l/_6jXlwgQYSS6P

9. Express each of the following linear
equations in two variables in the standard
form ax 4+ by + ¢ = 0 and in each case state

the values of a,b and c:

4r — 8 =0

o Watch Video Solution

10. Express each of the following linear
equations in two variables in the standard

form ax 4+ by + ¢ = 0 and in each case state


https://dl.doubtnut.com/l/_6jXlwgQYSS6P
https://dl.doubtnut.com/l/_SJ5QpELbbIbD

the values of a,b and c:

dy = 15

° Watch Video Solution

11. Find for solutions of each of the following
equation :

xT+y=7

° View Text Solution



https://dl.doubtnut.com/l/_SJ5QpELbbIbD
https://dl.doubtnut.com/l/_7Gz1KVQYFyDU

12. Find for solutions of each of the following
equation :

20 —y = 12

o View Text Solution

13. Find for solutions of each of the following
equation :

Yy = 3T

o View Text Solution



https://dl.doubtnut.com/l/_0XOn6lkrhUaU
https://dl.doubtnut.com/l/_ET9hVnLM5bFj
https://dl.doubtnut.com/l/_lH9VLWYe0yPT

14. Find for solutions of each of the following
equation :

T—Y=25

o View Text Solution

15. For each of the points given below , check
whether it is a solution of equation
2z 4+ 3y = 24 or not :

(12,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_lH9VLWYe0yPT
https://dl.doubtnut.com/l/_qclaYJx8tND9

16. For each of the points given below , check
whether it is a solution of equation

2z 4+ 3y = 24 or not :

( - \/§7 2\/3)

o Watch Video Solution

17. For each of the points given below , check
whether it is a solution of equation
2z + 3y = 24 or not :

(6,4)

| & I


https://dl.doubtnut.com/l/_kJmjyNAzpwSM
https://dl.doubtnut.com/l/_zOz91UMme57E

| ¥ Watch Video Solution |

18. For each of the points given below , check
whether it is a solution of equation
2z 4+ 3y = 24 or not :

(24, — 8)

° Watch Video Solution

19. For each of the points given below , check

whether it is a solution of equation


https://dl.doubtnut.com/l/_zOz91UMme57E
https://dl.doubtnut.com/l/_8OkmhOiSlo6a
https://dl.doubtnut.com/l/_9PFdPWCMs5qZ

2z + 3y = 24 or not :

(3,2)

° Watch Video Solution

20. For each of the points given below , check
whether it is a solution of equation
2z 4+ 3y = 24 or not :

(30, — 12)

o Watch Video Solution



https://dl.doubtnut.com/l/_9PFdPWCMs5qZ
https://dl.doubtnut.com/l/_qgWfoT0KEGnq

21.If x =2 and y = 5 is one of the solutions of

equations 5x + 2y = k, find the value of k.

° View Text Solution

22.If x =5 and y = 4 is one of the solutions of

equation 4x - ky =10 . Find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_0mqVPYK2YQD2
https://dl.doubtnut.com/l/_SQsJGL42fXFA

23. Give equations of any four lines passing

through point (5,7)

o Watch Video Solution

24. Ariv received certain amount form his dad
and another amount from his mom . The sum
of twice the amount received from his dad and
thrice the amount received from his mom is Rs
1200 Form the equation representing this

information and draw its graph .

| & I


https://dl.doubtnut.com/l/_lNjKOt1VMOVa
https://dl.doubtnut.com/l/_1UDQjuMS9STc

| ¥ Watch Video Solution |

25. Draw the graph of the equation 3x + 2y =12
and state the coordinates of its point of

intersection with the x - axis and the y - axis.

o Watch Video Solution

26. Draw the coordinates of its point of

intersection with the x - axis and the y - axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_1UDQjuMS9STc
https://dl.doubtnut.com/l/_JlEUBCGmzyV0
https://dl.doubtnut.com/l/_4baVbuQ3Culd

27. The cost of book is Rs 10 more than three
time the cost of a pen From the equation
representing this information and draw its

graph.

° Watch Video Solution

28. Give the geometric representation of the
equation 3z — 12 = 0 as equation (1) in one

variable (2) in two variables .

° Watch Video Solution



https://dl.doubtnut.com/l/_mcJLff6CCJ7g
https://dl.doubtnut.com/l/_8YYOrmfvAE8j

29. Give the geometric representation of the
equation 2y + 10 = 0 as an equation (1) in

one variable (2) in two variables.

° Watch Video Solution

1. The cost of notebook is twice the cost of a

pen Write a linear equation in two variables to

represent this statement (Take the cost of a


https://dl.doubtnut.com/l/_8YYOrmfvAE8j
https://dl.doubtnut.com/l/_R7I9dlLTEGbQ
https://dl.doubtnut.com/l/_eKhRZvo3WMCt

notebook to be Rs x and that of a pen to be Rs

y)

° Watch Video Solution

2. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of
a, b and c and indicate the values of a, b and ¢

in each case:

2z + 3y = 9.35

° View Text Solution



https://dl.doubtnut.com/l/_eKhRZvo3WMCt
https://dl.doubtnut.com/l/_bXwj54AJte6K
https://dl.doubtnut.com/l/_QPbDt8ttHAji

3. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of

a, b and c and indicate the values of a, b and ¢

in each case:

(7]
—=-10=0
T

o View Text Solution

4. Express the following linear equations in
the form ax + by + ¢ = 0 and indicate the

values of a, b and c and indicate the values of


https://dl.doubtnut.com/l/_QPbDt8ttHAji
https://dl.doubtnut.com/l/_yl8Tj5zjWg8E

a, b and c in each case:

—2x +3y=26

° Watch Video Solution

5. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of
a, b and c and indicate the values of a, b and ¢
in each case:

x = 3y

° View Text Solution



https://dl.doubtnut.com/l/_yl8Tj5zjWg8E
https://dl.doubtnut.com/l/_hA3ZA2c6hcWN
https://dl.doubtnut.com/l/_7j9PQKeeikIr

6. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of
a, b and c and indicate the values of a, b and ¢
in each case:

2r = — 9y

o View Text Solution

7. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of

a, b and c and indicate the values of a, b and ¢


https://dl.doubtnut.com/l/_7j9PQKeeikIr
https://dl.doubtnut.com/l/_B9SQlPVzvSFA

in each case:

3r +2=0

° View Text Solution

8. Express the following linear equations in the
form ax + by + c = 0 and indicate the values of
a, b and c and indicate the values of a, b and ¢

in each case:

y—2=0

° View Text Solution



https://dl.doubtnut.com/l/_B9SQlPVzvSFA
https://dl.doubtnut.com/l/_0SGsNbaivI8a
https://dl.doubtnut.com/l/_SKanHA5lHMSZ

9. Express the following linear equations in the
form ax + by + ¢ = 0 and indicate the values of
a, b and c and indicate the values of a, b and ¢

in each case:

Hh = 2x

° View Text Solution

1. Which one of the following options is true

and why ?


https://dl.doubtnut.com/l/_SKanHA5lHMSZ
https://dl.doubtnut.com/l/_SYGJHlLlV64y

y = 3 + 5 has (i) a unique solution , (ii) only

two solution , (iii) infinitely many solutions.

° Watch Video Solution

2. Write four solutions for each of the
following equations :

2r +y=17

° Watch Video Solution



https://dl.doubtnut.com/l/_SYGJHlLlV64y
https://dl.doubtnut.com/l/_yVscfuM95x0G

3. Write four solutions for each of the
following equations :

mr+y=9

o Watch Video Solution

4. Write four solutions for each of the
following equations :

x = 4y

o View Text Solution



https://dl.doubtnut.com/l/_NoWXAz2LSO8E
https://dl.doubtnut.com/l/_ZWeT14i0oMEO
https://dl.doubtnut.com/l/_hPkYdyLgYu13

5. Check which of the following are solution of

the equation £ — 2y = 4 and which are not:

(v2,42)

o Watch Video Solution

6. If x =2 and y =1 is a solution of the

equation 2z + 3y = k, find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_hPkYdyLgYu13
https://dl.doubtnut.com/l/_nq73CMD8dmeA

1. If the point (3,4) lies on the graph of the

equation 3y = ax + 7. find the value of a..

o View Text Solution

2. The taxi fare in a city is as follows : Four the
first kilometre , the fare is Rs 8 and for the
subsequent distance it is Rs 5 per km. Taking
the distance covered a x km and total fare Rs y
write a linear equation and total fare Rs .

Write a linear equation .

| & |


https://dl.doubtnut.com/l/_45cefmtF2Hiv
https://dl.doubtnut.com/l/_tmZN7dB8GFDA

| ¥ Watch Video Solution |

3. If the work done by a body on application of
a constant force is directly proportional to the
distance travelled by the body, express this in
the form of an equation in two variables and
draw the graph of the same by taking the
constant force as 5 units. Also read from thte
graph the work done when the distance

travelled by the body is (1) 2 units (ii) O unit .

o Watch Video Solution



https://dl.doubtnut.com/l/_tmZN7dB8GFDA
https://dl.doubtnut.com/l/_wWUENQd4eJhR
https://dl.doubtnut.com/l/_WNjTJXSVaRyy

4.Yamini and Fatima , two students of class IX
of a school, together contributed Rs 100
towards the prime Minister's Relief Fund to
help the earthquake victims . Write a linear
equation which satisfies this this data. (You
may take their contributions as Rs x and Rs y).

Draw the graph of the same.

o Watch Video Solution

5. In countries like USA and Canada,

temperature is measured in Fahrenheit,


https://dl.doubtnut.com/l/_WNjTJXSVaRyy
https://dl.doubtnut.com/l/_GXr9NRlfd60h

whereas in countries like India, it is measured
in Celsius . Here is a linear equation that
converts Fahrenheit to Celsius :

9
F=|=]C+ 32

5
Draw the graph of the linear equation above

using Celsius for x - axis and Fahrenheit for y -

axis .

o Watch Video Solution

6. In countries like USA and Canada

temperature is measured in Fahrenheit where


https://dl.doubtnut.com/l/_GXr9NRlfd60h
https://dl.doubtnut.com/l/_fOzcB2WzNyZd

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts
: : 9

Fahrenheit to Celsius F = 5 C + 32

If the temperature is 30°C, what is the

temperature in Fahrenheit?

o Watch Video Solution

7. In countries like USA and Canada
temperature is measured in Fahrenheit where
as in countries like India, it is measured in

Celsius. Here is a linear equation that converts


https://dl.doubtnut.com/l/_fOzcB2WzNyZd
https://dl.doubtnut.com/l/_FqWqSHz2jby9

9
Fahrenheit to Celsius F = (E)C + 32
If the temperature is 95°F, what is the

temperature in Celsius?

o Watch Video Solution

8. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured
in Celsius . Here is a linear equation that

converts Fahrenheit to Celsius :

9


https://dl.doubtnut.com/l/_FqWqSHz2jby9
https://dl.doubtnut.com/l/_J238F8mhtIbh

If the temperature is 0°C, what is the
temperature in Fahrenheit and if the
temperature is 0° F, what is the temperature

in Celsius ?

o Watch Video Solution

9. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured
in Celsius . Here is a linear equation that

converts Fahrenheit to Celsius :


https://dl.doubtnut.com/l/_J238F8mhtIbh
https://dl.doubtnut.com/l/_h1fP5U5fJFcv

9

Is there a temperature which is numerically
the same in both Fahrenheit and Celsius ? If

yes, find it .

o Watch Video Solution

1. Give the geometric representation of y =3 as
an equation (i) in one variable (ii) in two

variables .



https://dl.doubtnut.com/l/_h1fP5U5fJFcv
https://dl.doubtnut.com/l/_ykI5lVBzgvew

\ ° Watch Video Solution

2. Give the geometric representations of
2z + 9 = 0 as an equation (i) in one variable

(ii) in two variables.

° Watch Video Solution

Multiple Choice Questions Mcqs

1.1f (2,-2) is root of bx — 2y = k, then k=.....


https://dl.doubtnut.com/l/_ykI5lVBzgvew
https://dl.doubtnut.com/l/_hitMUsxVYMEZ
https://dl.doubtnut.com/l/_7v4Bp1AoMJtE

C.14

D.10

Answer: A::D

o View Text Solution

2.1f z = 2 and y = 1is one of the solutions of

4 4+ ky = 11, then k=.......


https://dl.doubtnut.com/l/_7v4Bp1AoMJtE
https://dl.doubtnut.com/l/_EoozmoQopgvN

A2

B.3

C.5

D.6

Answer: C

o View Text Solution

3. If (3,2) is one of the solutions of

kx — 3y = 21 ,then k=......


https://dl.doubtnut.com/l/_EoozmoQopgvN
https://dl.doubtnut.com/l/_0XNGO7cG7DF2

A3

C.2

D.5

Answer:

° View Text Solution

4. The graph of 2x - 3y = 6 passes through


https://dl.doubtnut.com/l/_0XNGO7cG7DF2
https://dl.doubtnut.com/l/_EYIGpQ1j7uav

A. (2,-3) and (-2,3)

B. (2,3) and (3,2)

C.(0,2) and (-3,2)

D. (0,-2) and (3,0)

Answer: A::B::C::D

° Watch Video Solution

5. Expressing 4x = 2y — 7 in the y - form , we


https://dl.doubtnut.com/l/_EYIGpQ1j7uav
https://dl.doubtnut.com/l/_Ladp12y3IKgp

Answer: B

° Watch Video Solution

9
6.If ' = (g)0+32,thenc= ........

A. 5F - 160


https://dl.doubtnut.com/l/_Ladp12y3IKgp
https://dl.doubtnut.com/l/_bCq2dpjbKG0r

1
—(5F — 32
8. < (5F — 32)

5F 32
9

5
D. o (F — 32)

Answer: B::C

o Watch Video Solution

9
7.f F = (E)C+32,thenc=

A.C=5

B.C=-40



https://dl.doubtnut.com/l/_bCq2dpjbKG0r
https://dl.doubtnut.com/l/_DerriduJ3X1T

C.C=40

D.C=32

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_DerriduJ3X1T

